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A ball is moving upward from the ground with initial speed v=6m/s, then its

highestheight from the ground is:

(a) 3m (b) 10m (c) 1.8m (d) 3.6m
(e)r2 + % 2-(None of the above)
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An object starts at rest and is sliding down from an inclined plane which makes

an angle 30° with the floor. Then the speed along the plane after 5m of sliding is:

(@) 5m/s (b)10vV2m/s (c)5V3 m/s (d)25m/s (e)5vV2 m/s

3. - BPFMURT g R 6mM/sd F AT eSS Aok AU 3R G
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An object is shot out of the window horizontally with speed 6m/s. If its initial

height from the ground is 30m, then its speed after moving for two seconds is:

(@) 20m/s (b) 20v2 m/s (c)19.8 m/s (d)20.9 m/s
(e) 22.4 m/s
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Assuming a pendulum with length [ and period T, if its length is being extended

to 4l then the corresponding period is:

(@) 4T  (b)2T ()3T (d)T/2 (e)T/V/3

5. APFMALEEZRARE P FEFFvER W EFHOTE L moR
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An object is moving on a circle of radius R with a uniform speed v. If its mass is m,

then the centripetal force is:

(a) mv/R (b) mv?/R (c) mv?R (d) mvR?
(e)r4 F ¥ 2-(None of the above)
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An object of mass m is moving periodically under the force F=-kx (x is the
distance measured from its equilibrium point), then the maximum speed vy,

and the maximum distance x,, are related as:

(@) xmx< vy (B) xmo< v (€) Xpm< VVm (d) xpm<1/vm
(e) ™} ¢ 2%(None of the above)
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A piece of mass mis sliding on a frictional floor with the initial speed v,. If the
coefficient of friction is u, then at the speed v = v,/2 the distance traveled is

(g is the gravity acceleration):

@ e ) Iniag (Oug/Cv.))  @g/@2v.)

(e)r2 + % 2-(None of the above)
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If m and M are the masses of the planet and the Sun, respectively, andR is the
distance of the planet from the Sun, thenR3/T2 is (T is the period of the
planetary motion and G is the Newton's constant):

(a) GM /163 (b) GM /8 (c)Gm/16m (d) GM/4An? (e)Gm/4Am?
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A meteorite is moving from infinity toward the Sun with an initial speedv(0) =
vy and its closest distance from the Sun is b. Then after the meteorite is moving

away from the Sun at a speed v, its angular momentum L is:
(@) mv 2/R  (b)mbv  (c) mbv, (dymv, b?/R

(e)r2 + % 2-(None of the above)
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Two identical point charges Q4 = Qg = Q have the same mass. If initially B is at
rest at x=0 and A is located at x=- = and moving toward B with speedv,, then

what is the speed of B when A is located at x=07?
@uv, (b)v,/2 (v, /4 (d) 2v,

(e) 2+ % 2-(None of the above)

11.d B B3 an@fd B ve v ok T2 FERARpM 25 ¢
From dimension consideration, the speed (v) of wave on a rope is related to its

density (p) and its tension (T) as:

(@) o/ T (b)T/p (T7p*> (d) yT/p

(e)r2 + ¥ 2-(None of the above)

12. 8-d esg B I(H 5 Watt/m?) » B 1 22 Bk crdrty A eifd (2 5 ¢
The intensity of wave | (with unit Watt/m?)is related to its amplitude A as:

(a) xA (b) ocA? (c) ocA® (d)oc A* (e) «x VA
13. - @B FH m 7538 5 y=Acos (4nt — 8nx) » Bl v gy id 5 o
A traveling wave has the formy = Acos (4t — 8mx), then the wave speed is:
(@) 4m/s (b)4m/s (c)8 m/s (d)0.5m/s (e)2.5m/s
14, AR A LT 0 AR M h 0 R S (M g )

Under standard temperate and pressure (STP), n moles of hydrogen gas has a

volume (with unit litre) of:

(a)22.4xn  (b) 22.4/vn  (c)22.4n (d)22.4/n (e)22.4n?
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Imole (P 8 F M A LB RET v & 5 (LB F R W B35
8.31J/molK)
One mole of ideal gas at standard standard temperate and pressure (STP) has an

energyof (ideal gas constant = 8.31J/molK):

(a) 3403) (b) 3403Cal (c)860J (d)8600J (e)1508Cal

TR ZRIFHZEL- BLERI enTHA(KRTAPIESZ ) BIAER,
Fehfind

Two resistors R;and R, are connected in parallel and a battery of
electromotive force (EMF)eis applied on those resistors.If the internal resistance
of the battery is r, then the current on R; is:

(a) €/(R1+Ry) (b) E/(R1+R2)2 (c) €Ro/[R1(Ry+r)+R,r]
(d) €eR1/[R1(Ry+r)+R,r] (e) ™} ¢ 2%(None of the above)

P\FFérm #AoBE- BRIEREE > Aok T r’v’ﬂééﬂﬁiée’m?@?}
I 2} N 2

A battery of electromotive force (EMF)e with internal resistance r is connected to

an external resistor R, then its maximum output power is:

(a) €2r/R? (b) €¥/4R (c)e¥3r (d)€¥5R (e) €2R/r

B BARREE T E QA o T Pa LS B 5 (3,00 (-3,0) ° &
ZBRIF QB EELZ(0b) 4ok QQ <OR] Q) iriE e 4 -
Two identical fixed charges Q at rest on the x-axis with coordinates (a, 0)and
(—a, 0). Another charge Qatrestislocated at (0, b)IfQQ; < 0 then its motion

is:

(a) (0,b)=>(0,%2)  (b)(0,b)>(0,- =) (c) ¥ # |+ i& & periodic motion
(d) # % i harmonic motion  (e) 14} ¥ 2-(None of the above)

Z BApR R iFq i x fht E AL B 5 (0,0),(a,0)% (0,-a) B 2H(0,a)t
R N NS

Three identical charges q are located at (0,0), (a,0)and (0, —a), then the
electric field at the point (0, a) is:

@2 b (= 2R ()

4TE, A 4TE, A 4TE, A

qv2 (e) 3q (2+v2)

4me, a? 4me, a?
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A capacitor C =0.2uF.If the potential across its two ends is 5V, then the charge (Q)
storage on the capacitor is:

(a) 10pCoul  (b) 20pCoul (c) 10~°Coul (d) 107! Coul
(e)r2 + ¥ 2-(None of the above)

21 5 LB 2 R 3 B(LF 5 QLB A - A2 o 4ok BTN 5 B
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A coil of self induction L is connected in parallel with a capacitor C. If the coil has
the maximum current I, then the charge Q on the capacitor is:

(@)0  (b) IwVLC (c)Im/VLC  (d) Iu/LC (e)IuLC

2.7 A n T R E 240V P RESNT RE L BH S
The alternating voltage in the house is 240V, then the maximum value of the
house supply can reach:

(a) 480V (b) 360V  (c) 330V (d) 339v (e) 412V
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A charge q is moving in a uniform B, field. If the motion is always perpendicular

_

to B, , then which of the following statements is correct?

(@) i R V LPF A 3 4r (Its speed v always increase with time)
(b) V MEPF R (Its speed always decreases)

(c) & R F +* 3> 3 (Its radiusR is inversely proportional to B)
(d) & R & 3" B(Ris proportional to B)

(e) 12} ¢ 2-(None of the above)
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From the perspective of photon, which of the following statement is correct?

it 3tk 3 #ig(I o« Photon Number)

I vL A (I Frequency)

I WA 3 E &9+ -] (I Electric field E)
I B2 (] o E?)

A

¥ 25 (None of the above)

25.FM 3 #9955 100MHz ¢ $ R & 5 ¢
The radio channel FM has a frequency 100 MHz, then the corresponding wave

length is:

(a) 108m (b) 107 8m (c) 3m (d) 0.3m (e) 100m



